Demographic and related socio-economic data sheets, for member countries of the Economic and Social Commission for Western Asia in 1998, No. 10-1999, United Nations, p. 99-100.

Distr.
GENERAL
E/ESCWA/POP/1999/1
6 September 1999
ORIGINAL: ARABIC/ENGLISH

DEMOGRAPHIC AND RELATED SOCIO-ECONOMIC DATA SHEETS

FOR MEMBER COUNTRIES OF THE ECONOMIC AND SOCIAL COMMISSION FOR WESTERN ASIA AS ASSESSED IN 1998



UNITED NATIONS

Economic and Social Commission For Western Asia

No. 10 - 1999

جدول الحياة لكل جنس، ۱۹۹۸ (المواطنون) Life table for each sex, 1998 (Nationals)

				Line table for each sea, 1970 (Nationals)	155 (Mail	maisj			
				M	Males				
AGE	M(X,N)	Q(X,N)	I(X)	D(X,N)	L(X,N)	S(X)	T(X)	E(X,N)	A(X,N)
0	0.02260	0.02215	100000	2215	98020	0 97662	7116813	71 168	0.106
_	0.00090	0.00361	97785	353	390288	0.99649	7018793	71 778	1.586
5	0.00047	0.00232	97432	226	486595	0.99785	6628505	68 032	2 500
10	0.00039	0.00197	97206	191	485551	0.99726	6141910	63 185	2.500
15	0.00077	0.00383	97015	371	484220	0.99534	5656359	58 304	2 705
20	0.00106	0.00531	96643	513	481965	0.99468	5172138	53.518	2.563
25	0.00105	0.00524	96130	503	479402	0.99450	4690173	48.790	2.520
30	0.00118	0.00590	95627	564	476768	0.99331	4210771	44.033	2.579
35	0.00156	0.00775	95062	736	473577	0.99042	3734003	39.279	2.644
40	0.00240	0.01193	94326	1126	469038	0.98427	3260426	34.566	2.697
45	0.00411	0.02035	93200	1897	461660	0.97344	2791388	29.950	2.711
50	0.00690	0.03396	91303	3100	449400	0.95536	2329728	25.516	2.705
55	0.01176	0.05723	88203	5047	429338	0.92719	1880327	21.318	2.687
09	0.01901	0.09102	83155	7569	398079	0.88486	1450989	17.449	2.662
65	0.03089	0.14396	75587	10882	352243	0.81916	1052910	13.930	2.639
70	0.05048	0.22511	64705	14566	288543	0.72252	700667	10.829	2.598
75	0.08207	0.34124	50139	17109	208479	0.49414	412125	8 220	2.533
80	0.16219		33030	33030	203646	i	203646	6.166	6.166

Source: See methodological notes to tables 4 and 5

المصدر : راجع الملاحظات المنهجية، الجدولين ٤ و ٥

Country: Saudi Arabia Table: 5 (Continued)

دولة: المملكة العربية السعودية جدول : ه (تابع)

جدول الحياة لكل جنس، ۱۹۹۸ (المواطنون) Life table for each sex. 1998 (Nationals)

			Life	Life table for each sex, 1998 (Nationals)	ex, 1998 (Natio	nals)			
				الت Females	u) ales				
AGE	M(X,N)	Q(X,N)	I(X)	D(X,N)	L(X,N)	S(X)	T(X)	E(X,N)	A(X,N)
0	0.02152	0.02112	100000	2112	98127	0.97733	7311376	73.114	0.113
1	0.00104	0.00413	97888	405	390536	0.99645	7213249	73.689	1.490
5	0.00040	0.00201	97483	196	486927	0.99818	6822713	686.69	2.500
10	0.00033	0.00164	97288	159	486040	0.99793	6335786	65.124	2.500
15	0.00054	0.00269	97128	261	485034	0.99676	5849745	60.227	2.674
20	920000	0.00379	<i>L</i> 9896	367	483462	0.99575	5364711	55.382	2.616
25	0.00095	0.00472	96500	456	481405	0.99472	4881249	50.583	2.592
30	0.00119	0.00593	96045	570	478862	0.99312	4399844	45.810	2.608
35	0.00161	0.00801	95475	765	475568	0.99037	3920983	41.068	2.637
40	0.00233	0.01159	94710	1097	470989	0.98546	3445415	36.378	2.665
45	0.00363	0.01801	93613	1686	464142	0.97762	2974426	31.774	2.674
50	0.00556	0.02742	91927	2521	453754	0.96587	2510284	27.307	2.668
55	0.00859	0.04211	89406	3765	438266	0.94668	2056530	23.002	2.672
09	0.01384	0.06705	85641	5743	414898	0.91263	1618264	18.896	2.683
65	0.02371	0.11235	48899 1	2268	378650	0.85356	1203366	15.061	2.678
70	0.04124	0.18792	70922	13328	323201	0.75999	824716	11.629	2.643
75	0.07126	0.30390	57594	17503	245628	0.51023	501515	8.708	2.581
08	0.15668	į	40091	40091	255887		255887	6.383	6.383

Source: See methodological notes to tables 4 and 5

المصدر: راجع الملاحظات المنهجية، الجدولين ٤ و ٥